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Question 1
Question Type: MultipleChoice

Which node enables Cisco ISE to share contextual information on a device with Cisco Stealth watch?

Options: 
A- Inline Posture Node

B- pXGrid Controller

C- Monitoring and Troubleshooting Node

D- Policy Administration Node

Answer: 
B

Question 2
Question Type: MultipleChoice



What is the easiest way to enable SD-Access for all your remote sites after you have your campus SD-Access fabric up and running?

Options: 
A- Use a separate fabric domain for each site and use the traditional physical network as the underlay.

B- Threat all the sites as one fabric domain and use the traditional physical network as the underlay.

C- Threat all the sites as one fabric domain and use SD-WAN as the underlay.

D- Use a separate fabric domain for each site and use SD-WAN a s the underlay.

Answer: 
C

Question 3
Question Type: MultipleChoice

Which two primary categories are displayed on the overall health page of the assurance component in the Cisco DNA Center? (Choose

two.)



Options: 
A- Client

B- Server

C- Access-Distribution

D- Core

E- Wired

F- Network

Answer: 
A, F

Question 4
Question Type: MultipleChoice

Which protocol runs between the vSmart controllers and between the vSmart controllers and the vEdge routers, and unifies all control

plane functions under a single protocol umbrella?



Options: 
A- OMP

B- BGP

C- VRRP

D- IKE

E- OSPF

Answer: 
A

Question 5
Question Type: MultipleChoice

What are three ways in which Cisco ISE learns information about devices? (Choose three.)

Options: 
A- RPC mechanism via HTTPS



B- RADIUS attributes

C- network servers the device has accessed

D- user authentication to the ISE

E- traffic generated by the device

F- SMTP agents

Answer: 
A, B, E

Question 6
Question Type: MultipleChoice

What are the three foundational elements required for the new operational paradigm? (Choose three.)

Options: 
A- multiple technologies at multiple OSI layers

B- application QoS



C- fabric

D- assurance

E- policy-based automated provisioning of network

F- centralization

Answer: 
C, D, E

Question 7
Question Type: MultipleChoice

Which Cisco product supports SD-Access and specifically built to address new challenges faced by enterprises?

Options: 
A- ASR 1000-HX

B- ISR 4221

C- CSRv virtual router



D- Catalyst 6807-XL w/ Sup6T and C6800 10G line cards

E- Catalyst 9500

F- Nexus 7700 w/ Sup2E and M3 line cards

Answer: 
A

Question 8
Question Type: MultipleChoice

What statement is true regarding the current time in Enterprise Networking history?

Options: 
A- advent of loT

B- pace of change

C- pervasive use of mobile devices

D- advent of cloud computing



Answer: 
B

Question 9
Question Type: MultipleChoice

Which Cisco product were incorporated into Cisco ISE between ISE releases 2.0 and 2.3?

Options: 
A- Cisco WSA

B- Cisco ACS

C- Cisco ESA

D- Cisco ASA

Answer: 
D



Question 10
Question Type: MultipleChoice

Which two statements are true regarding SD-WAN demonstrations? (Choose two.)

Options: 
A- As a Cisco SD-WAN SE, you should you should spend your time learning about the technology rather than contributing to demo

innovation.

B- During a demo, you should demonstrate and discuss what the team considers important

details.

C- During a demo, you should consider the target audience and the desired outcome.

D- Use demonstrations primarily for large opportunities and competitive situations.

E- There is a big difference between demos that use a top down approach and demos that use a bottom up approach.

Answer: 
C, E



To Get Premium Files for 500-490 Visit
https://www.p2pexams.com/products/500-490

For More Free Questions Visit
https://www.p2pexams.com/cisco/pdf/500-490

https://www.p2pexams.com/products/500-490
https://www.p2pexams.com/cisco/pdf/500-490

